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1 N FEAN %1 4 104***Q #r00 6,000

2 AL P FEAN %1 4 104***7 200 10,000

3 N FEAN %1 4 103***8 %00 6,000

4 AL P 8 & 1 107***5 5200 10,000

5 N PR A 2 106***9 %00 10,000

6 AL P 8 & 4 104***g #OO 6,000

7 N ANZEN 3 105***5 5RO0 10,000

8 AR ANREN 4 104***7 #O0 -| CeEEmEnES
9 ANt Br ANZEN 2 106***5 ;TOO -| CeBaEtENES
10 | AfFR B A 1 104***7 200 10,000

11 | AftFz e 2 106***7 Z00 6,000

12 | TEfR TEA 4 104***@ Z00 14,000| fSRFEFISMpIESE
13 | TER TEA 4 104***3 =00 8,000

14 | TEfR TEA 1 107***Q OO 8,000

15 | TERx TEA 3 105***8 F+00 8,000

16 | TE[R M % 2 106***5 Z00 10,000

17 | TE[R 5% % 3 105***5 BEROO 8,000

18 | TE[xR M % 4 104***7 MO0 8,000

19 | TE[R EM % 4 104***4 00 5,000

20 | TE8PF% 5% % 2 106***4 BROO 5,000

21 | T EBx A 2 106***8 200 7,392

22 | TEBR B A 2 106***Q 200 7,392

23 | ITEBx A 4 104***7 OO 6,000

24 | TEBR B A 4 104%**] %00 6,000

25 | TEBx A 4 104%**4 oorr] 6,000

26 | TEBx B A 5 103***Q #00 6,000

27 | I EBx s 3 105***4 500 6,000

28 | T E8Px AR 1 107***1 | 5R00 | CopaEzEEs
29 | EFHERR BT % 4 104***g OO 9,290

30 | EFN P BT % 4 104***6 OO 9,290

31 | EFEPR BT % 4 104***5 MOO 9,290

32 | EFN B 1% 3 105***( 200 9,290

33 | EAERR BT % 3 105%**5 OO 9,290

34 | EFN B 1% 2 106***7 5200 9,290

35 | EfER EEA 4 104***3 400 8,000

36 | E:HERR BB % 4 104***Q OO 10,000

37 | EFNE PR N 3 105***9 iilfele)] 8,000

38 | E:NEPR BB A 3 105***3 F00 10,000

39 | E=AHERR EEA 1 107***6 OO 8,000

40 | EFHEPR ELE 3 105***3 OO - | CepaEEEs
41 | EFER ELCEN 3 105***3 2100 19,670

42 | EFR B BE A 2 106***8 | 200 8,000

43 | EFEPR ELCEN 2 106***7 =00 8,000

44 | EHERR EEA 1 107***4 | 200 8,000

45 |EEEBfr| BHEZF 4 104***Q 5200 26,424

46 | BB | BHEAT 2 106***0 =00 20,000
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47 | EEEPR ) 2 106***2 | EOO 13,473
= fels Z
48 | EEEPR EE*’;;( & 3 105***0 | OO 13,472
== 444 =

49 | EEEPR EE*’;;( & 3 105%**6 200 13,472
50 i‘-ésﬁfq%ﬁ% BEHARAE) [ 4 104%**2 Z&00 3,500
51 | BBk | B A(RA) | 4 104***8 BEEOO 8,856
52 | @Skt | B A[AA) | 4 104***8 5RO0 3’500
53 |mEEl | SR (RA) | 2 | 10675 | 00 3.500
54 | iRy | EiEEEN 2 106***6 2/00 3 600
b5 |EEEfr| FiEREN 2 106***Q OO 2’785
56 %E@%[ﬁ B1I1 4 104***5 %00 11:500
57 | EIREPR BEH1f 3 105***5 =00 11,500
58 | EIEERy B1I1 2 106***1 =00 111000
59 | EIREPR BEH1f 4 104***2 =00 7’000
60 | EIEERR B1I1 2 106***7 OO 71000
61 | EIRERR BEH1f 4 104***(Q Z00 6’000
62 | EIRERR B+4I1 4 104***6 HOO 101000
63 | EIRERR EH1f 3 105***4 OO 6’500
64 | EIREPR B+4I1 2 106***1 Z00 81500
65 | EIRERR EH1f 4 104***g =00 9’000
66 fe{i@%iiﬁ% B+4I1 4 104***2 400 101000
67 | EIRERR EH1f 1 107***8 Elele) 6,500
68 | BB BN 3 | 10401 | %00 6.500
69 | EIRERR EH1f 4 104***g £00 6’000
70 | EIBERR KERE 2 106***4 5200 15:000

580,176




